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1. Kraus identified a number of 1) physical, 2) social, 3) psychological, and 4) emotional,
intellectual and spiritual motivators for recreation and leisure participation. Please identify and
discuss what these motivators are for each of the four categories.

2. What are the major differences between governmental, nonprofit, and commercial agencies
providing recreation programs and facilities? Compare 1) goals and objectives, 2) funding
sources, 3) individuals or groups served, and 4) types of programs offered.

3. a) Please explain the Butler sequence of tourism destination lifecycle.
b) Please discuss and provide your supporting argument that in which stage of the Butler
sequence is current Kenting National Park best fitted.

4. a) Please discuss three pros and three cons of social impacts on the destination with tourism
development.
b) Please discuss three factors that will diminish the economic impacts of visitor spending on
the Kaohsiung city when hosting “World Games 2009”.
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